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Ideals for irreducible component#ﬂ)f Xpar

I = —u® 4+ 2u? 1)

* 1 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u% —ud®+...+2u%4+1)

(i) Arc colorings

0
a2 = \u
1
ag = U2
—Uu
ar = \—ud+u
—u? 41
ar = \ —yt + 22
U
ail = \u
—u?+1
Ay = _u2
w’ — 4u® + 4ud — 2u
az = uw —3ul +u
—uT 4 4u® — 4ud + 2u
a10 = \ —u? + 5u” — Tu® 4+ 2u + u
—ut? + 7ut0 — 1708 + 18u8 — 10u* +u? + 1
ag = \ —y 4 8u!? — 2310 + 2848 — 1218 — 2u* + 3u?
u? — 14wt + - — 1203 + 2u
ag = \ u? —13u?t + - 4+ 6ud 4+ u

—ud3 2003 -+ 1203 —u
a3z = \ —u3® +21u? + -+ 3u +u

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u35 4 88u?? — 864ul! + 410 4 4992129 — T6u>® — 18852127 4 632120 + 4889225 —
3020u2* — 89008u?® + 9160u?? 4 113828u2' — 18396u20 — 991641 + 2472418 +
52076ul” — 2169616 — 672415 4+ 11000u* — 12088u!3 — 1160u'2 + 9184wt — 2344110 —
2088u” + 1456u® — 600u” — 192u’ + 400u® — 112u* — 36u> + 32u® — Su — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7,C10 w5+ 8u+1
C2,C3,Cg u39_u38+'.'+2u2+1
C4,C5,Cp U397U38+"'+2u2+1
C11,C12
o u +3u 4 — 64u — 11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1, C7,C10 y39 + 39y38 + -+ 244y — 1

C2,C3,C8 y? =37y - —dy —1
€4, Cs5, C6 Y30 — 49y 4y —1
C11,C12
€9 v — 17y ... 48716y — 121




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.873826 + 0.4236131

8.93364 + 8.897631

—1.22130 — 6.831701

u = —0.873826 — 0.4236131

8.93364 — 8.897631

—1.22130 + 6.831701

u = —0.922435 + 0.2277141

1.26466 + 5.081771

—5.39049 — 6.977581

u = —0.922435 — 0.2277141

1.26466 — 5.081771

—5.39049 + 6.977581

u= 0.857810 + 0.4047831

2.75689 — 5.582581

—4.65603 + 7.152191

uw= 0.857810 — 0.4047831

2.75689 + 5.582581

—4.65603 — 7.152191

u = —0.947855

—0.837000

—8.85130

u = —0.823526 + 0.4049551

2.96787 +1.341411

—3.94883 — 0.937631

u = —0.823526 — 0.4049551

2.96787 — 1.341411

—3.94883 + 0.937631

uw=0.808094 + 0.4337951

9.33527 + 1.684791

—0.469786 4 0.9917251

uw=0.808094 — 0.4337951

9.33527 — 1.684791

—0.469786 — 0.9917251

uw= 0.903789 + 0.1467411

—3.37051 — 2.282971

—12.10756 + 6.074271

u= 0.903789 — 0.1467411

3.37051 + 2.282971

—12.10756 — 6.074271

u = —0.782444

—1.49310

—5.17370

uw= 0.031226 + 0.6426331

11.68140 — 5.307331

3.41369 + 3.294321

u= 0.031226 — 0.6426331

11.68140 + 5.307331

3.41369 — 3.294321

u = —0.016307 + 0.620475]

5.40670 + 2.121891

0.27996 — 3.353681

u = —0.016307 — 0.6204751

5.40670 — 2.121891

0.27996 + 3.353681

uw=0.511980 + 0.2605571

3.56308 + 0.253881

—1.48569 + 2.194211

uw= 0.511980 — 0.2605571

3.56308 — 0.253881

—1.48569 — 2.194211

u= 0.169814 + 0.4471081

4.60381 — 2.810671

2.08372 + 5.832721

u= 0.169814 — 0.4471081

4.60381 + 2.810671

2.08372 — 5.832721

u = —1.62352 —3.95660 0
u = —1.64697 + 0.106921 0.881433 + 0.3208591 0
u = —1.64697 — 0.106921 0.881433 — 0.3208591 0
u = 1.65839 + 0.099201 —5.63467 — 3.214171 0
u = 1.65839 — 0.099201 —5.63467 + 3.214171 0

u = —0.168097 + 0.2886541

—0.147703 + 0.7919711

—4.18696 — 8.619271

u = —0.168097 — 0.2886541

—0.147703 — 0.7919711

—4.18696 + 8.619271

u= 1.67155

—10.2526

0




Solutions to I vV—1(vol + v/—1CS) | Cusp shape
u = —1.66956 + 0.104171 —6.02842 4 7.516551 0
u = —1.66956 — 0.104171 —6.02842 — 7.516551 0
u= 1.67324 4+ 0.112067 0.08852 — 10.955801 0
u= 1.67324 —0.112061 0.08852 4 10.955801 0
u = —1.68686 + 0.033751 —12.53770 4 2.959471 0
u = —1.68686 — 0.033751 —12.53770 — 2.959471 0
u= 1.68924 —10.1491 0
u= 1.68974 4 0.052491 —7.95265 — 6.138401 0
u= 1.68974 — 0.052491 —7.95265 + 6.138401 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C7,C10 U3975U38+"'+8U+1
Co2,C3,C8 W — B 22 1
C4, Cs5, Cp VLI L DU WS |
€11, C12
Co u? + 30 4 — 64u — 11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, C7,C10 v +39y%8 - 244y — 1
C2,C3,C8 y? =37y 4+ —dy -1
C4,C5, C6 y30 — 49y 4. —dy —1
€11, C12
Co v — 17y + - + 8716y — 121




